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Uo: ............................ V
Rb: ............................ Q
RT1: ............................ Q
|z: ............................ A

Abrazoland6 U | fliggvényében + képlet

Kirchoff huroktorvény: U, — I IR, -U, =00 U, =1 [R, +U,

..U, =1,[R, +U,,  |.:U,=4[R, +12
.:U,=1,R +U,, ~ Il.:U, =14[R, +10

0 2=10R, 0 R, =0.2Q

U, =4R, +12=402+12=12.8V

I, zarlati aram, amikor Ry = O:
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0 U, =4[R, +12=14[R, +10 [

(ellendrzés:U, =14[R, +10=12.8V)

Uk(1): Kirchoff huroktorvény: U, — I [R, -U, =00 U, -1 [R, =U
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